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If/afe¢ tan A = v2 -1 then value of AT JTd B
sin2A=?

(a) 1/2

Opz
(c) 5
(d) V2
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2

If the area of a trapezium is 250 sq.m and the lengths of the two
parallel sides are 15 m and 10 m respectively then distance between

the parallel sides of the trapezium

HHEd BT GAB A 20097 Hiew § 3R 31 F=iaR uai d1
msmaa% 101112?%% gmﬂu&ﬁ%ﬁ%&gﬁgﬁﬁﬁ

(a) 15 m
(b) 1m

[(c) 20m

(d)12m
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A chord of a circle of radius 6 cm makes an angles of 60° at the centre.
Area of the minor segment made by the chord is

69! FASAT arel 99 A U SHaT §RTSAE Y S HIUTHI ATT 60 § A=A
JUES BT YAPA AT P ?

(1) 3(3w — 2v3)
(2) 3(3m — 3V3)
(3) 3(2m — 3V3)
(4) 3(3m —V3)
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9 and 36 are first and second terms respectively
in a continued proportion, then the third
proportional is

TS MIRAR SIUTd § HHRT: 9 3R 3678 A SR gy
T IR g, fre ST erquifas gra s 2

(a) 36

ibE 72

(d) 324
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The dimensions of a cuboid are 18 cm x 12 cm x 9 cm. How many cubes
5 of side 3 cm can be made by melting the cuboid? '

%wumammﬁﬁx 12 A x 9 AH g1 TFIY &l FUaaTPR USS 3

& fPaa T TS T IS d &7

(a) 60
) EL
(c) 69

[(d) 7P
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6 The sides of a right-angled triangle forming right
angle are in the ratio 5:12. If the area of the triangle
is 270 cm?,then the length of the hypotenuse is
U YT B YOI JHPIU 161 8 512F ST A
gl afe AyYST &1 &dawd 20cm2 B, v puf Pl darg 8

(a)30
(b)36
(d)8
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i ¥
i

= 1 2
| 7 x=2-23 + 23 findATAT P

x3-6x2+18x =72
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i The radii of a sphere and cylinder are 6 cm each. If their volumes are
8 equal, then the cul’ved surface area of the cylinder is :
TH Tl 3R Th o &I Foard 6 T, g1 afe Sd Id SIeR ol

dl 9 &1 dsh UY &% d fbdT g2

(1) 32w cm?2
(2) 96 m cm?2
(3) 44 T cm?2
(4) 54 T cm?2
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N®” An amount was lent for one year at the rate of 18% per annum
compounding annually, Had the compounding been done half yearly, the
9 interest would have increased by 324. What was the amount (in Rs.) lent?
TP YRR o1 198 & frg s ufaxra ufaad wpafS Ao Sl R AIUR
ﬂ)TI:CITI ag_}ma@mﬁﬁﬁﬁwm 3UT I W1 8 | SYR S T8 YRIRA .
CUIRIY

1) 32000
) 36000
(3) 40000
(4) 72000
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i 1 is 30 m2and volume is 500 m2 is

ﬁzmmammﬂma@maﬁmm
?

Mnso m

(2) 40 m
(3) 60 m
(4) 20 m
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In a 100 mt race ,kamal defeats bimal by 5 sec ,if the
speed of kamal is 18 km/hr ,then the speed of blmal ?

100MeT F IS AP I A 1 5qHS A ST
Hud o1 TS efedirere, a‘rﬁwraﬁﬂﬁr srlaao“\f ?

(1)154

2) 145
Mn) 14

(4) 14
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1 (12 + 22432+.......+102) = ? '
. 2

(1) 330
(2) 345
3) 36
[OELE
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The total number of digits used in
1 numbering the pages of a book having 366

3 pagesis: PO o
36YEI aTell QXa® & GEI 1 ST H U 3ip)
aﬁwm%

(1) 732

(2)[990 |
(3) 1198
(4) 1335
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The number of perfect square number
between 50 and 1000 is — .
4 3T 1000 T Ae T TS P HWAT B -

(1) 21
(222 ]

(3) 23
(4) 24
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252 m of pant cloth and 141 m of shirt cloth are available in a
cloth store. To stich one pant and one shirt, 2 (1/2)m and 1(3/4) m |
of cloth are need respectively. Then the approximate number of |
pants and shirts that can be made out of it are —

TP PUS DI gD A 2 UST 3R 11 e ¢ pusT U= 2|

wﬂ?éﬁvwméﬁ%amﬁ%ggmz 2(1/2)11’raﬁ'\r1wﬁv%ﬂ_:rﬁ

PUS DI 11 o e o '
mmmg?ﬂ%l SITHIFIE &

(1) (80, 100) (2) (100, 80)
(3) (100, 90) (4) (90, 80)
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The radius of based of solid cone is 9 cm and its height is 21 cm. It cut into |
3 parts by two cuts, which are parallel to its base. The cuts are at height of |
7 cm and 14 cm from the base respectively . What is the ratio of curved
surface areas of top, middle and bottom parts respectively?
wﬁwa@%mmaﬂﬁweﬁ:ﬁwwﬁm{mﬁ%ﬁﬁwﬂ
STUTY & FHTAR g | 3HTT H DI T ST STUR H HHI: 771 74T 14TH.
%?ﬁtl'\’%l PUT: SHURL, 7 74T fAaa 4T & 956 gl 8w &1 SrguTa o n

| (1)1:4:8
(2)1:3:5
(3)1:3:9
(4)1:6:12
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- 17 .15 50 people less would have applied and 25 people

less selected, then the ratio of selected and unselected
would have been 13:4, while earlier this ratio was 2:1.
Find the total number of people earlier?

gfe 508 HH AN A 3mde fHar giar 3R a1 $H Jafd
gid, df Iafad 3% Ui &7 3uTd 13 48141, Siaf® Ugd

ugmmmmgﬁsﬁﬁﬁwﬁwmaﬂﬁgfl%

(b) 135
(c) 500
(d) 250
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